
Key B
Domain Expression of Ideas
Skill Rhetorical Synthesis

Key Explanation: Choice B is the best answer. The sentence uses “like many of Tubbs’s sculptures” and “both” to
emphasize a similarity between Erasure and Home Grown in terms of their common use of discarded objects,
though the specific discarded objects used differed between the two works.

Distractor Explanations: Choice A is incorrect because although the sentence discusses two of Tubbs’s works, the
use of “however” emphasizes a contrast, rather than a similarity, between the works. Choice C is incorrect because
the sentence focuses only on Tubbs’s work in general and does not mention any specific works. Choice D is
incorrect because the sentence simply conveys information about two of Tubbs’s works—the year in which each
was completed—without establishing any sort of logical relationship between the pieces of information.

Detailed video about this problem-

https://drive.google.com/file/d/1_IcYW9IDPrp9i1bH_3heMZu2CRzqPW2L/view?usp=sharing


